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000000000 :000000000000,w=f(:)000000.200
0000 f(x)O 00D, 00000 wO0O00ODOOCODOOOODO.

»=z+iy0000,f(z)0200000 2,y000000. f()0000000
00000000 u(z,y),v(e,y) 0000,

w = f(r+iy) = u(z,y) +iv(z,y)
ogoooo.

gogobooboboo,gbbobbdggooobbooooobob.oobobood
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O,w0O0OOOOO0D w00 OO0.0000000O0D00O00DO0O0O0 D,OD0O0
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6.1 DOOO0OO

gudd 000000 zyyOUOGOGQOQ 0000 2=24+w000000. z,y0
0000 20 OO (real part)d O (imaginary partd 0 0,z = Re(z),y = Im(z) O
0o.

(1) 00000000,

(2 200000 2z =a1+iy1, 20 =0+ 00O, 0,00
2tz = (1 £ x2) +i(vh £y2), 2120 = (2122 — Y1y2) + i(T1y2 + T21),
D0D00.0000 2/ 000,000 z1,41,22,5: 000000

) 000 z=2x+iy000000D0O000O0O0 z—iy0d 2000000 (complex
conjugate] 00 ,zO0O00O.000000000O0OCOODOOODO.

(z1-2) =77, z/n=2a/Z (2#0).

(4) 000 z=2z+4 0000 |2|0 Va?+42000000.0000000 2
00000 2,2, 000,00000000000000.

G)OO00OnOO000O0 2z,2,--,2, 000, 0000000000O0000.

|21+ 204+ -+ 2| < o] + |22 + -+ |20 (6.1)

20070 120 40 (DOO0O)



ooooi1go 26

6.2 DOO0OOOOO

,t 000000.00000000 e*0O

at o= (a)” o at (at)?

O000000000000.0000=1000.000 e« 00000000
gooood,

goooo.

bbb oU0DD0DOOO0O0OO0DODOO0O0.

(1) 0000000
e = cosy +isiny (6.2)

ggboboooob.obbydgbbbod.

(2) 000200000 2,22 000,eme2 =22 00000000(@O00:
e 000000000000000D00O0O0OoOO).
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6.3 DUOO0OOOd

000 z=a2+iy(r,y000)000000,000000000 0000 (complex
plane)J 000 1000000000.0000

z=r(cosf +isinh) = re?, (6.3)

ooooo.0dooood oo ooo.ooboooooouoooogo
000.000 r=|z|=+v22+¢%600 2000 (argument] 00 0,0 =arg: O
gooo.

1) :0000D00C0CCO000000,argp D0 O0O0OO0OODODO.

(2 000000000000
i, —i, 1—i, 1+/3i
(3) 000000000
(cos B +isinf)" = cosnb + isinnb, (6.4)
gobboooooon.

4) 2=10000000,0000000000000.

G)0O0DOO0O0OO0OnDbOODL :»=100000000CO0OOO0OODDOCODOO
googd.
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64 DO0O0OOOOODOO

0000000 (1.2,000000000 13)000oboDo0oooooooooog
gooo.

(1) cos(0; £ 63) = cos by cos By F sin 0 sin Oy
(2) sin(fy £ 65) = cos by sin by + sin O cos b,
(3) cos26 = cos?h — sin? 0

(4) sin26 = 2sinf cos
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